GENERAL NOTES

SPECIFICATIONS:

1. THIS STRUCTURE CONFORMS TO THE "LRFD BRIDGE DESIGN SPECIFICATIONS"
ADOPTED BY AASHTO, 2014, 7TH EDITION INCLUDING THE 2016 INTERIM SPECIFICATIONS
AND THE ODOT BRIDGE DESIGN MANUAL, 2007.

ALL MATERIAL AND WORKMANSHIP TO BE IN ACCORDANCE WITH THE
STATE OF OHIO DEPARTMENT OF TRANSPORTATION CONSTRUCTION AND
MATERIAL SPECIFICATIONS DATED 2016 AND THE SPECIAL PROVISIONS.

THE ANSI/AASHTO /AWS (CURRENT EDITION) BRIDGE WELDING CODE.

N

MATERIAL SPECIFICATIONS:

1. ALL STRUCTURAL STEEL SHALL CONFORM TO ASTM A709 GRADE 50W.

. STRUCTURAL STEEL NOTED CVN INDICATES MATERIAL WHICH IS SUBJECT
TO CHARPY V-NOTCH TESTING PER 711.01 OF STATE OF OHIO CMS.

N

HIGH STRENGTH BOLTS:
-HIGH STRENGTH BOLTS SHALL BE ASTM A325 TYPE 3 WITH ONE ASTM A563

TYPE 3 HEAVY HEX NUT AND TWO F436-3 HARDENED WASHERS. ALL TO BE
WEATHERING HARDWARE.

24

-ALL HIGH STRENGTH BOLTS SHALL BE ROTATIONAL CAPACITY TESTED
PRIOR TO USE. DO NOT MIX NUTS AND BOLTS FROM DIFFERENT LOTS.

4. SHOP CLEANING AND PAINTING OF STRUCTURAL STEEL TO BE IN ACCORDANCE WITH

ODOT CMS 514.
* SOLVENT CLEAN PER SSPC-SP 1/ SHOP BLAST CLEAN PER SSPC-SP 6

* MATERIAL IS TO BE SHIPPED UNCOATED.

FABRICATION:

1. ALL FIELD INSTALLED (BY THE CONTRACTOR) HIGH STRENGTH BOLTS SHALL BE PERMANENTLY
INSTALLED AND TORQUED USING TURN OF THE NUT METHOD.

2. ALL RE-ENTRANT CUTS SHALL HAVE A MINIMUM RADIUS OF 1"

3. ALL FLAME CUT OR SHEARED EDGES SHALL BE DEBURRED AND BROKEN WITH A SINGLE
PASS OF A GRINDER CREATING A 1/16"+ RADIUS.

WELDING:

1. WELDING SHALL BE IN ACCORDANCE WITH THE AASHTO/AWS D1.5-2002 BRIDGE
WELDING CODE AS AMENDED BY 0.D.O.T. 1011 AND SECTION 513.21 OF THE CONSTRUCTION
AND MATERIAL SPECIFICATIONS, DATED JANUARY 1, 2016 AND AS MODIFIED BY THE
CONTRACT PLANS.

GENERAL:

1. FABRICATED PIECES ARE TO BE MARKED WITH THE SHIPPING MARKS ON THE LEFT END
AS SHOWN ON THESE SHOP DRAWINGS. THE PIECES ARE ORIENTED IN THE FIELD WITH
THE SHIPPING MARKS AT THE END AS SHOWN ON THESE SHOP DRAWINGS.

1. CONTRACTOR TO APPROVE ALL INFORMATION & DIMENSIONS
PRIOR TO COMMENCING FABRICATION.

DRAWING INDEX
SHEET NO.|DWG. NO. DESCRIPTION
1 GN1 GENERAL NOTES, DRAWING INDEX & HARDWARE LIST
2 E1 SUPPORT BRACKET LOCATION PLAN
3 D1 SUPPORT BRACKET WELDMENT 3SB1 ASSEMBLY DETAIL
4 D2 SUPPORT BRACKET PART DETAILS & BILL OF MATERIAL
TRABUE ROAD OVER NSRR I PID NO.: 15125 IOSl PROJ.NO.: 18-25 IREF NO.: 20 ITEMNO.: 513 LEVEL §
HARDWARE LIST
HARDWARE ONLY:
WT PER | NETWT
LINE PO# QTY | MARK DESCRIPTION STL SPEC (NLBS) | (NLBS) HEAT # LOCATION
1 * 318 ff [1-1/8x2-3/4 HEXHEAD BOLT A325TYPE 3 1.21 457.38]
2 ¥ 378 | nf |1-/8 HEAVY HEXNUT AS63 TYPE 3 0.59 223.02
3 * 756 | wi [1-1/8 FLAT WASHER F436 TYPE 3 0.1 79.38
4 546 | ss |[7/8" DIAMETER x 6" SHEAR STUD A108 1.15 627.90

* INDICATES AN ITEM THAT WILL BE SHIPPED LOOSE

TOTALWT  1,387.68]

SHOP DRAWING REVIEW

REVIEW IS FOR GENERAL COMPLIANCE
WITH CONTRACT DOCUMENTS
NO RESPONSIBILITY ASSUMED FOR
CORRECTNESS OF DIMENSIONS OR DETAILS

NO EXCEPTIONS TAKEN o
MAKE CORRECTIONS NOTED
AMEND & RESUBMIT

REJECTED - SEE REMARKS

E.L. ROBINSON ENGINEERING

Date, \1"‘3-—\8 By_:DF.r

S OF

% CERTIFIED
< FABRICATOR

MAJOR STEEL BRIDGES &
COMPLEX STEEL BLDG. STRUCTURES
WITH PAINT ENDORSEMENT

REV. No.

REVISION

A

CHANGED NOTE 1 UNDER SPECIFICATIONS 11/9/2018

SHOP INSPECTED BY:

OHIO STRUCTURES INC.

535 NORTH BROAD STREET SUITE 5
CANFIELD, OHIO 44406

(330) 533-0084 FAX: 533-0191

ioi{ TRANI &
D\ E48751 [ (]

l\?’APﬁ{OVAp/SI
DAVID \ k
P Y] FRANKLIN COUNTY

BRIDGE: FRA-CR27-0785
TRABUE ROAD OVER NORFOLK SOUTHERN RAILROAD

O Y4 §
20 & YRS . . . ,
AR ~GISTERS o ¢ SCME_RIS) Franklin County Engineer |——2§2§“,:‘ 4%

e,
*rensrannns?®”

: N
"'%%i\/ON AL e«r“"‘ REF NO.: zoG =

ERAL NOTES, DRAWING INDEX & HARDWARE LIST

ITEM NO.: 513 LEVEL 5§

| owa. No.: N1

.....,ﬁ.?‘_—._l PID NO.: 15125 |
. SFN: 2531526 |

0SI PROJ. NO.: 18-25 |1 OF 4




€ BRG. REAR ABUTMENT ¢ PIER 1 ¢ PIER 2 (i PIER 3
/ / { /
/ 56'-3" SPAN 1 /: 720" SPAN 2 / 81'-6" SPAN 3 / 81'-6" SPAN 4
/ /' ¢ FELD SPLCE A / ¢ FIELD SPLICE B / ¢ FELD SPLCE C
/ [ us / [ we /! [ 0 . i
/ " / ! / / / =i e (see
/ : / / / / / BELOW)
L = et i gt ey e et T ey e e e { pgmnes 1 T = \ iy | T i i A = e bt T - r 1 | Kb Sumbmbmper C-—------= Q==
¢ '*‘ FEEEee s SN R (R =g K ******************************************* T A =17 g ‘\“ —— it ] e e e freseipeestamsanges 7
*k * *x H SUPPORT BRACKET
Y. (A ] WELDVENT 3581 (TYP.)
. e | wo | we | oo | e | wo | e ] | s | | e | we ]
SUPPORT BRACKET SPACING 50" 10-0" 10'-0" 10-0 10-0' 10'-0 10°-0 10-0 | 10'-0" . 10-0 . 10'-0 | 10'-0 ' 10-0 | 10'-0 ' 10'-0 10'-0 10'-0 | 10'-0' | 10'-0' 10'-0 10'-0 | 10'-0 | 10'-0" | 10-0'
419'-6" CENTERLINE TO CENTERUNE OF ABUTMENT BEARINGS PARTIAL SUPPORT BRACKET LOCATION PLAN
SPANS 1,2, 3 &4
G PIR 4 ¢ PIER 5 § BRG. FORWARD ABUTMENT
/ i /
81°-6" SPAN 4 / 72'-0" SPAN 5 ,/’ 56'-3" SPAN 6 ,/
§ FIELD SPLICE C § FIELD SPLICE D ,/ ¢ FIELD SPLICE E /I ,/
MATCH LINE (SEE / / ws / A / | /
ABOVE)\ / ’ ; / 'IZ TYP. ] /
_BE_M_%;’)_‘ V/— —————— { | it I [ | T/““ ( elpripa i / { il o g s (il p = E ———"——"T_-j—/ ————— Cef et oo et ‘{:r ————————— b et Lt ) = b= =3 54 /
%% BEAM LINE 5 (BEAMS 30834, 31B5B, = “K"" : == ; I A "Y"f"“ - 1 - § 7 ; T ] — w7
32B5C, 33B5D, 34B5E & 35B5F) IS 33850 E { E 34BSE E i E F H E \-3535F t l H l [
SUPPLIED BY OHIO STRUCTURES WiTH SUPPORT BRACKET X% ok H ; E E
REFERENCE NUMBER 10. WELDVENT 3531 (TP : i : ] - ] ]
2/
SUPPORT BRACKET SPACING ‘ 10-0" ‘ 10'-0 10'-0 ‘ 10'-0" ‘ 10'-0 10'-0° ‘ 10'-0 ‘ 10'-0 100" 10'-0° 10'-0 } 10-0 10'-0 10-0 100" ’ 10'-0' 10'-0" ' 10-0" 4-6"
PARTIAL SUPPORT BRACKET LOCATION PLAN 419'-6" CENTERUNE TO CENTERUNE OF ABUTMENT BEARINGS
SPANS 4,5 & 6
SHOP DRAWING REVIEW
REVIEW IS FOR GENERAL COMPLIANCE
¢ BEAV LNE 5 WITH CONTRACT DOCUMENTS
e ; NO RESPONSIBILITY ASSUMED FOR

1" © W36x231 & W36x247

BEAM & CONNECTION PLATES ARE
INCLUDED WITH REFERENCE

|
-
|
|
|
|

3 3/16" @ W36x194

O I

SLOPE .02'/1'-0"——

SUPPORT BRACKET WELDMENT 35B1
(SEE SHEET 3 FOR ASSEMBLY DETAL)

NUMBER 10
F=== 1""::_ﬁ.;—H W
LT\ ‘\\\‘(r T
Sre :O o U !
I 1 I
o0 0
I I I
. omo L
CONNECTION PLATE—~___ | I L4
e
! I
! nQ
° ol
o ol
|
1 OJJ \ HEX BOLT ff (1 1/8% x 2 3/47)
pos—fp===} WITH 1 HEX NUT of AND
. 2 WASHERS wi (YP.)
7

CONNECTION PLATE

SECTION

W36x231 SHOWN (SMILAR @ W36x247 & W36x194)

42 LOCATIONS

pORRECTNESS OF DIMENSIONS OR DETAILS

NO EXCEPTIONS TAKEN

X

MAKE CORRECTIONS NOTED

AMEND & RESUBMIT

REJECTED - SEE REMARKS

Date

E.L. ROBINSON ENGINEERINC

IL-a-1§

(%)

ERTIFIED
ABRICATOR

MAJOR STEEL BRIDGES &

COMPLEX STEEL BLDG. STRUCTURES

WITH PAINT ENDORSEMENT

REV. No.

REVISION

SHOP INSPECTED BY:

NOTES:
SEE SHEET 3 FOR SUPPORT BRACKET WELDMENT 3SB1 ASSEMBLY DETAIL
SEE SHEET 4 FOR SUPPORT BRACKET PART DETAILS & BILL OF MATERIAL

OHIO STRUCTURES INC.

535 NORTH BROAD STREET SUITE 5
CANFIELD, OHIO 44406
(330) 533-0084 FAX: 533-0191
FRANKLIN COUNTY
BRIDGE: FRA-CR27-0785
TRABUE ROAD OVER NORFOLK SOUTHERN RAILROAD

SCALE: NS, - ; DRAWN: _JDC
oare._twis| Franklin County Engineer [gueck 7k
SUPPORT BRACKET LOCATION PLAN
REF NO.: 20 ITEM NO. 513 LEVEL 5
PID NO. 15125 [ [owe. No. Ef

SFN: 2531526 | 0S| PROJ. NO.. 1825 |2 OF 4




2'4%'

7-8l"

3 3
SHOP WARK TOP FLANGE PLATE 4tf1

14

1/4
7/8% x 6" SHEAR STUD ss /

T
|
W ﬂ] W W ﬁ ﬂj W T /7/s‘o x 6" SHEAR STUD ss (TYP.)

~ J SLOPE .02'/1'-0" —=— WEB PLATE 4wl —— \
TOP FLANGE PLATE 4fp!
O |
END PLATE 4p1 3
o 4 a
5 SECTION
O
Ry O
O
SHOP DRAWING REVIEW
O
o T REVIEW IS FOR GENERAL COMPLIANCE
WITH CONTRACT DOCUMENTS
o NO RESPONSIBILITY ASSUMED FOR
4 . BOTIOM FLANGE PLATE 4ot CORRECTNESS OF DIMENSIONS OR DETAILS
~ ELEVATION VIEW NO EXCEPTIONS TAKEN o
) MAKE CORRECTIONS NOTED
) 42 - SUPPORT BRACKET WELDMENTS 3SB1 AMEND & RESUBMIT
ASSEMBLY DETAIL REJECTED - SEE REMARKS

E.L. ROBINSON ENGINEERING

' Date, l \‘Q" 5 By—. BFT

e o —

Y

£ OHIO STRUCTURES INC.
§ \,,. 7 .
DQUGKIFIANGE FEAIE Sl FSETRN rg i"\ MROWJS 7 %, 535 NORTH BROAD STREET SUITE 5
g% ¢ CERTIFIED 4 2) , o "’g CANFIELD, OHIO 44406
\» &% IIJV <( FABRICATOR f ﬂ/\VfD 3 (330) 533-0084 FAX: 533-0191
i 2
§ H FRANKLIN COUNTY
MAJOR STEEL BRIDGES & i i H
COMPLEX STEEL BLDG. STRUCTURES =i g ET Fjgggg S: F BRIDGE: FRA-CR27-0785
WITH PAINT ENDORSEMENT H o\ 2 9F Ly TRABUE ROAD OVER NORFOLK SOUTHERN RAILROAD
3 N T NTS. . . DRAWN: JDC
% S ~FISTERS N ¢ SCME WISI Franklin County Engineer  [oramt 06
REV. Mo REVISION G ........ e " SUPPORT BRACKET WELOMENT 3551 ASSEMBLY DETAL
NOTES: / ONALE REF NO.: 20 ITEM NO.: 513 LEVEL 5
SEE SHEET 2 FOR SUPPORT BRACKET LOCATION PLAN 7 o o o 5 I ~Towe, o: o1
SEE SHEET 3 FOR SUPPORT BRACKET PART DETAILS & BILL OF MATERIAL | SHOP INSPECTED BY: D,J s SEN: 2531526 i 351 PROJ N 18753 OF 4




PIDNO.: 15125

1l
'

£ 8%'

=11

~——GRAIN DIRECTION ——

= =L? =
) o

~

3-1

e}

E
L

L bbb ——0—--0- 006

7/8% x 6" SHEAR STUD ss (NS. wp.)/

42 -Top Flange Plates 4tf1
MATERIAL: NOTED

7-5

\ /16" PLATE

~——GRAN DIRECTION—=—

6-87

BHo

i
25

2-4"

32%7%2%2%4'7%7_?% 7%,2%‘3
|
1»—@—
e

1.3/16 HOLE (TYP)

42 - Web Plates 4w1
MATERIAL: 3/8" PLATE

o 13
6—1116

———GRAN DRECTION—

42 - Bottom Flange Plates 4bf1

MATERIAL: 7/16" PLATE

TRABUE ROAD OVER NSRR

] 0SI PROJ. NO.: 18-25

| REFNO.: 20 JITEMNO.: 513 LEVEL §

42 - SUPPORT BRACKET WELDMENTS 3SB1

MATERIALS ONLY:

LINE PO# QTY | MARK

LENGTH

DESCRIPTION (FEET)

LENGTH
(INCHES)

STL SPEC

PCWT | NETWT

(NLBS) | (NLBS) REMARKCS

HEAT #

2 42 | 41 |PLATE

38 x 2911116

5 118

A709-50-W-CVN

201.30|  8,454.60 WEB PLATE

42 | 4p1 |PLATE

38 x 6

138

A709-50-W-CVN

8.54 368.68 END PLATE

2
2 42 | 4
3

PLATE 7/16 x 6

| o=~

8 34

A709-50-W-CVN

60.14]  2,525.88] TOP FLANGE PLATE

42 | 4pft

PLATE 7116 x 6

111316

A709-50-W-CVN

62.42  2621.64 BOTTOM FLANGE PLATE

]TOTAL Wr 13,96030'

N
8
——— GRAIN DIRECTION —=—

42 - End Plates 4p1
MATERIAL: 3/8" PLATE

PN
I 2) gCERTIFIED
& /7] < FABRICATOR
Ty

MAJOR STEEL BRIDGES &
COMPLEX STEEL BLDG. STRUCTURES
WITH PAINT ENDORSEMENT

SHOP DRAWING REVIEW

REVIEW IS FOR GENERAL COMPLIANCE

WITH CONTRACT DOCUMENTS
NO RESPONSIBILITY ASSUMED FOR
CORRECTNESS OF DIMENSIONS OR DETAILS

NO EXCEPTIONS TAKEN v

MAKE CORRECTIONS NOTED )

AMEND & RESUBMIT

REJECTED - SEE REMARKS

E.L. ROBINSON ENGINEERIN:

Date

1\-9-(8

By.LD?T

rme—

REV. No. REVISION

.....
............

SHOP INSPECTED BY:

NOTES:
SEE SHEET 2 FOR SUPPORT BRACKET LOCATION PLAN
SEE SHEET 3 FOR SUPPORT BRACKET ASSEMBLY DETAIL

OHIO STRUCTURES INC.

535 NORTH BROAD STREET SUITE 5
CANFIELD, OHIO 44406

(330) 533-0084 FAX: 533-0191

FRANKLIN COUNTY

BRIDGE: FRA-CR27-0785
TRABUE ROAD OVER NORFOLK SOUTHERN RAILROAD
SCALE. _N.T.S. . . DRAWN: _JDC
owre._tois | Franklin County Engineer  [eyece Tk

SUPPORT BRACKET PART DETAILS & BILL OF MATERIAL

REF NO.: 20 ITEM NO.: 513 LEVEL 5
PID NO.: 15125 [ | owG. No.: D2

SFN: 2531526

0Sl PROJ. NO.: 18-25|4 OF 4




